M = 0l &8 AF & H Al A
20119 204 LB H 2AF AR ~ 2SMRE=R
S B ARR
Mz X2¢olg 29 XN (Lerz23d /eI HI{2e])
@ XY ojd3es K& (&2 &)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
Ol ANR= 2,483,980 2,395,555 88,425
XNgolg 29 X (et /LdHLHI122]) 2,221,464 2,128,736 92,728
XNegolg oj83es XN 2,221,464 2,128,736 92,728
odeEsEs g8 262,780 275,780 A 13,000
201 LBt29H| 250,180 242,180 8,000
01 At 22l 236,380 233,180 3,200
O1.¢8t=2H]| 230,380
Ngols HAE U 2YMS MY A
30,000& * 1502 4,500
-H6CH EetAlClg 28 SFa M
20,000,000& 20,000
-O|3|8 HI& 600& *15,0002 103/ 90,000
-9|38 H&E iz 320,000& *43| 1,280
-O|3|OtLY B XF HIE (2 ,¥92)
10,000& 2502 2,500
-3 2 A& A+ ME 5,000& 5002 2,500
-3 EHE 33,600
cHdE 3oE 40,0003 x80F *23] 6,400
cAAE 3oE 30,000& *80F *83| 19,200
THEANRZAE Y ZASISE
50,000& *80F *23| 8,000
-HZ20HAM Z2H| 50,000,000 50,000
-Olgle2E ZAMmMY HH 3,000& *5002 1,500
-31°2|F HI0IH S5 89 300, 000& x103] 3,000
-2AEZHAL E8 S-S HEH 70,000& 300K 2,100
-@J{2| LD M&E =82 HZ
2,600,000& 2,600
-O|3EY EHO0IA SEA 22|
1,400,000& x12& 16,800
O6. 9 Xt = 6,000
QI ES FHMIHE LIt 500,000& x12& 6,000
02 =294l 13,800 9,000 4,800
O1.22224HA 1,800
-HelEE dE= 50,000& =20 = 12& 1,200
-BeEHE CHY M AES
50,000& 13| & *x12& 600
O3. A& &HIR XY 12,000
-2|3| EHO0IX RAE% 600,000& x12& 7,200
-9l3| 392 AAE SAEL
400,000& x123] 4,800
202 04t 3,600 3,600 0
01 2L HI 3,600 3,600 0




A 2ASAIR=
& Agos 29 N (Lets3dF/dgtdnzel)
ttel: XNgos o 83egs XN

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OZ=SAZAEE S HAHNHI
60,0003 *3% x2 «102 3,600
207 A0 9,000 30,000 A21,000
02 AN Y| 9,000 30,000 221,000
023 3= dM AAE & 24 238
9,000, 000& 9,000
s og2d XA 310,676 195,656 115,020
201 Let2d] 133,096 72,896 60,200
01 AtS 22/t 117,340 59,640 57,700
O1. Let=2H] 37,300
-2|329 et=ZH| 20,000,000& 20,000
-2l =& A & 5,000& *1,000% 5,000
oYYH BN EHI M
25,0003 100 2,500
-=3|2& I8 ZA 5,000,000& 13| 5,000
“NEHS A =Y 200,000& x2H «12& 4,800
O3.28=¢ 840
-EZEAISIS R SRIAHBMAIRARZS P
BFEAH 70,0003 x6H 23| 840
O5.8 €l 22,400
S ART YRFEE S
7,000& *10E 10 x123] 8,400
-AAE & Hdla ORIZEXN =S4
7,000 *10H 100 7,000
-LAl2l Y ZAs MERAFEY ORI2ZSLN 2
A4 7,000& 10100 7,000
O6.9x=z 56,800
“HIARR PG FE S MR HA
Xt 56,800
25= 20,000, 0003 »2J4 A 40,000
ELE] 700,000 24 A+ 12 16,800
02 =234l 15,756 13,256 2,500
O1.2E523Z Al 13,256
-o|3|8 g&EREz 2503 *1,40004 103! 3,500
-JIEt 332= % HMA 9,756,000& 9,756
O3. Al & &Hl=Xltl 2,500
-2#&E&EH 2 500, 000& *5JH 2 2,500
202 O4Hl 86,920 75,600 11,320
01 =W 33,320 29,000 4,320
OSZEsER HRFINHI 19,520,000& 19,520
OEtZAI2I3l HlwHAsto
60,0003 x3H x4 4 ?| & 2| 32 +33] 6,480

O d&ot HEEANBI

o

20,0003 x5H 5 «63] 3,000
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A 2ASAIR=
HH: NLos 2% XN (LetsSdF /YL 2el)

ol Kol g BI’E%% A& (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O&IANZAXF23 o HH 3 HEFANHI
60,000 x3H 243 4,320
03 =2H20tl 39,600 39,600 0
O=2HMuNIHA S =AY
2,600,000 x3H *23] 15,600
O3z o204l
2,000,000 x4 H +3H 2 & 2l 24,000
04 =Xt 14,000 7,000 7,000
OHACAl 2 AASHEI(AEHES F2)
3,500, 000& *4H 14,000
203 HRF4Hl 30,000 30,000 0
03 AlIMF=XHRLFEH| 30,000 30,000 0
Oo3l2g =8| 10,000, 000& 10,000
OAMZE 2=l 12,000,000& 12,000
O3 AL HRF=EH| 8,000,000& 8,000
301 EtEA = 4,160 4,160 0
08 2API=H Y| 3,440 3,440 0
OHAXHEAl 2BI=FH NI 3,440
—-AlH| 3,440
=gl 50,000 x5 x4 x23] 2,000
=HA 30,0003 x6H x4 x23| 1,440
10 EAAHIBEAS 720 720 0
O3S EHEANME 24
60,0003 »2H «2 & x33] 720
405 AHoHESHI 56,500 13,000 43,500
01 T =SS HSHI 49,500 11,000 38,500
OLES(5018) 2,000, 0002 «2CH 4,000
O23 SHO0IX & 3= AIAH AH 2L
10,000,000& 10,000
(OFSPAEE-P) 2,500,000 *4CH 10,000
OAM Dt 1,000, 000& *34 3,000
omv 1,500, 0003 »4CH 6,000
Ot 500, 000& «30H 15,000
O Xt 250, 0003 64 1,500
02 =AY 7,000 2,000 5,000
O&AM 7,000,000& 7,000
O3 A & WEAH 19,040 32,540 A 13,500
201 et 3,440 16,940 A 13,500
01 AtS 22l 1,440 1,200 240
O2. 21 €=t 1,440
-=22ARH S W= 180,000& «8H 1,440
03 A2 EHI 2,000 15,740 A 13,740




A 2ASAIR=

B X2ols 2% N (LNTIHT/AYLLIIR2)

=Rl Aol ¥3egs N2 a (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
OZ=AZ2s TS5 HAIR2S
2 000,000& *13! 2,000
202 O4dl 15,600 15,600 0
01 S LI 15,600 15,600 0
O3 A=A =804
60,0003 *30&H 3L #2323 10,800
O3 oMo+ DREIIO)
60,0003 x8H x5 *23] 4,800
o F¥E=sH XA 1,628,968 1,624,760
205 2|3yl 1,628,968 1,624,760
01 2 ¥ &=l 422,400 422,400
O de=l 900,000& 32 122 345,600
O2x&g=l 200,000 «32F 128 76,800
02 28=¢ 761,472 761,472
OF=FSEg=) 1,983,000 x32E «12& 761,472
03 U YI 48,174 46,398 1,776
SENEEENEE!
74,0003 *10H 3 +23| x4 2| & 2] 17,760
OFSAZAZEl3| 59240l
74,0003 x1H+2 % 123] 1,776
OXNEMEAOIL &4 04t
74,0003 * 10 2 #2323 2,960
O=3 gg+d WsFA0H
74,0003 #2593 5,550
O=EHEXZ2E &0
74,0003 x 10 22 *43] 5,920
O=2l NZEHAMOILL H40b]
74,0003 x 102 »22 #2353 2,960
O3S AL HEAWHl 74,0003 x32F x22 #23] 9,472
Od=AZ XXz RFA0L
74,000% x1H %243 1,776
04 22044l 76,700 76,700 0
Oo&¥gs ool 59,000
-, 2o 2,500,000 *2& 5,000
-9/ 1,800,000 x30H 54,000
O=HusFAEA S HFAHAYI 17,700,000& 17,700
05 2 =2Z 253 167,800 165,368 2,432
SEEEEEEETY 167,800
-2/ 4,900,000 32 156,800
—H A B ASE ARG 1,000,000 11 11,000
06 JI&2SHRF4] 91,280 91,280 0
oo 2,620,000& 123 31,440
oRoE 1,260,000& 122 15,120
OuYAZE 860,000 »4H 123 41,280
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e ECENEE
B X2ols 2% N (LNTIHT/AYLLIIR2)

cel: XZol3l oIS K (=EREE))
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OlZEERIAH 860, 000& *43| 3,440
07 JEHEANMEES 5,800 5,800 0
OQF#HE M 22 4,000,000 4,000
OZESANZAFHE M 2E2 1,800,000 1,800
08 QA=20AZRE 2 31,200 31,200 0
O=0d3 fY=2 100,000 x26H = 12& 31,200
09 QA0 AURE= 24,142 24,142 0
O=2AHUEE 2= 60,000& 32 x12& 23,040
OLoEINQUABHELZ2 23,040,000 x4 .78% 1,102
IS YA (2SI ARR) (JIEHIIEH 262,516 266,819 ~4,303
IHASHHI (2SI AR =) 18,986 18,783 203
M= I 18,986 18,783 203
101 el 24H| 18,986 18,783 203
03 RIHLZ 22 18,986 18,783 203
OA A22| 18,986
|23 29,0103 »1H %313 9,081
-&0= 9,081,000 1 %1/12%300% 2,271
-H A& S| 9,081,000 *1H %1/12%120% 909
-WEE XY 30,000& x1H «12& 360
-JIE44 40,000& x1H = 12& 480
PNy 29,0103 x 1 %19 552
=54 29,0103 x 1Y x52 1,509
A2 22 RS 5,440 x 1H %22 A| 2t 12& 1,437
- ZAH| 80,000& x1H*12& 960
-JIH 2 & H| 50,000& x1H = 12& 600
-2EIA 2 29,010& » 1Y *4 2 « 128 %50% 697
=825 130,000 * 1 13| 130
II2AHI(AB AR ) 243,530 248,036 ~4,506
M98l 103, 190 102,896 294
201 Y2 Y| 103, 190 102,896 294
01 AtR22telyl 81,255 81,467 N212
O1.¢et=2H| 71,500
-2ENEY dit2Y| 5,460,000& 5,460
-2ENEY dAMALADEHI 7,050,000 7,050
AN == 12,0003 x25 5 x22 128 7,200
-EAMNSsSX P 11,790,000 11,790
O|HES JIEE=ZE AMXOQIG
19,000,000 19,000
-UXNESEI A2 13,000,000 13,000
-IglE ARE 200,000& x10CH*4 3] 8,000




A 2ASAIR=
M HZY2IZHI(ABMR=R)(IIEH/IIE)
el JI2Z (s AIR=)

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
O4.1l=H| 1,430
-HAE 2 2HE 2R 2Y
130,000 *11H *13] 1,430
O5. =&l 8,325
-FEA2E S| 8,325,000& 8,325
02 =234l 21,935 21,429 506
O1.2223LAA 4,608
-EA2E 23R 4,608,000& 4,608
O4. XtEHet| 17,327
¥ E 4,760,000& = 1CH 4,760
-HRE 4,760,000& *2CH 9,520
-SE (&) 3,047,000 «1CH 3,047
HE=ANHI 97,680 97,680 0
202 (4 H| 97,680 97,680 0
01 =Wl 97,680 97,680 0
OFQIRFAONH 20,0003 *37Z+11L*12& 97,680
HRF4] 15,260 15,260 0
203 YR FAY| 15,260 15,260 0
01 J|22SHRF&HI 3,300 3,300 0
OJ22Z YR =4 3,300,000& 3,300
02 HANMMPRF=EHI 2,960 2,960 0
OZAINMMHRFAHI 80,000& +37& 2,960
04 FN2ILRFAHI 9,000 9,000 0
OMR2 (& :25Y) 350,000& = 12& 4,200
O& &3 100, 0003 44 2| & 3l 128 4,800
ek 2 2EFFHSH| 27,400 32,200 24,800
405 KH&HFE SHI 27,400 32,200 24,800
01 XL SSFSHI 27,400 32,200 A4,800
oz =H 1,350,000& *6CH 8,100
OUXE Jtollct 9,000,000 = 1CH 9,000
O&E K= AL 4,000,000 = 1CH 4,000
O A& S| 500,000 =3CH 1,500
O M A= 700, 0003 +4CH 2,800
o4& 1,000,000 *2CH 2,000




